Problem 1:

a
(a) |F| —m— 247

Phase of [ = 76

1+|T

(b)SWR ="

2a
—1+7—1.66

(c) Z;n(.352) = .6 — j.025 > Z;,(.351) = Z,Z;,(.351) = 30 — j1.25 0
(d) ¥, (. 351) = 1.65 + /.02 - Y;,,(.351) = ¥, ¥,,(.351) = .033 +
j.0004 01

(e) Seen on the Smith Chart for problem 1: the minimal distance = .104A

(f) I = 272 = 2425 < 75.96°
L+Zo
SWR =0 — 164
1-|T|

Z;, +jZ,tan(Bl)
Z;, +jZ,tan(Bl)

Zn(.350) = Z, < ) =30.5—,1.09 2

The Smith Chart values are in fairly good agreement with those analytically

calculated.



Problem 1 Smith Chart
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Problem 2:

(a)
(b)
(c)

r|_=‘1
Zin (2321 =.31) = —j3.08 - Z;,(2.31 = .31) = —j154 1
¥:,(2.31 = .31) =.325 - ¥;,(2.31 = .31) = j.0065 2

Smith Chart for Problem 2
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Problem 3,4,5,6:

Smith Chart for Problem 3,4,5,6 Used for Determining Stub Distances
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Smith Chart used for Determining Stub Lengths:
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Problem 3: Series — Open
Distance 1 =.063A  (Black)
e Length=.328A
Distance 2 =.355A (Blue)
e Length=.173A

Problem 4: Series — Short

Distance 1 =.063A (Black)
e Length=.078 A

Distance 2 =.355A (Blue)
e Length=.424A

Problem 5: Shunt — Open

Distance 1 =.106 A (Green)
e Length=.424 A

Distance 2=.314 A (Red+Black)
e lLength=.078 A

Problem 6: Shunt — Short

Distance 1 =.106 A (Green)
e length=.173 A

Distance 2=.314 A (Red + Black)
e Length=.328A



